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I. 12 mwn: roasting on a grill
a.Prohibited: to roast on a grill
i. Story: with 3™ who told his servant »2v to roast the noa on a grill
ii. Resolution: mwn only forbids sealed grill; if it has holes, permitted, as per the story with 3™
II. Status of residual fire
a. Question: an oven was fired with n57y-peelings (nRina 11oR); they were swept out and bread was baked there
b. Answer: permitted (> residual fire not considered fire)
i. Challenge: swept out oven is invalid for roasting noa; 2x wr »5% (v1) - default is that residual fire= fire
ii. Answerl: noa is the source for the law of residual fire
iii. Answer2: re: noa, X"V concern: source being fire (existent); = NN repeats WX X to insist on actively present fire
1.But: re n%p, the concern is with the prohibited fruit, they are gone
c.  Further discussion: 127 states that roasting on coals is WR ¥
i. Challenge: coals are included in “burn-n’»n” because of repeated word man (v2)
1.Therefore: based assumption is that coals are not wx
2. Answer: this includes metal coals (wood coals are Wr)
a) Challenge: execution of 103 na (v3) effected with molten lead (i.e. “metal coal”); considered wx
b) Answer: 97wn includes any medium for burning
i. Question: Why not burn with fiery ropes e.g.?
1.Answer: inferred from death of ynaRy 211 — internal burning
ii. Question: why not use boiling water?
1. Answer: v. 4 — n nnni% M2
2.Note: need both inference from y>ary a1 and v4
3.Without: 17n7ary 213- X"10 internal burning not considered burning
4. And without: M3 1Y NANRY — R"T0 use more “brutal” method
d. Inv3:wrineeded to exclude lead straight from ground, which is already hot
i. Challenge (to notion that 97wn includes all sources of file): burn oxen (v5) only on fire
ii. Answer: sequence is inverted. v 3 — wXka followed by expansive 97wn; v 5: 97v1...wR1
1.Challenge: v5 also has a repetition of 97w (last word)
2. Answer: that allows burning even w/o 17
a) N2237(solution to wN mm):reads RN11 as assuming coals; extra Man to expand to other sources of burning
II. Challenge to »27’s assumption that coals are not wx
a.’37. interprets v6 - WR oM - as teaching that the coals must be enflamed, not dimmed
i. Internal contradiction: as to whether coals are wx
ii. ;w7 ®"10 could bring any type of coals=> W *>na: must be enflamed
1.Answer1 (7ax8): WR *on3~> must be enflamed, not dimmed; may not be coalless flame
2. Answer2 (737): excludes coalless flame
a) Rejection: that wouldn’t even be brought before mortal king
3.Answer3 (827): k™70 take flame from narm which will encoal by the time he gets to p"np
a) Therefore: teaches they must be coals from time of taking from altar
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